A

el

5|
u: 2
s}
=

Al

& 2 3 LEtelAl 2/ H DI ~ 2/ H

£ 0l

At

—

AF o O

= o

Al A

SN ZE - SR(EH) - MRAY - BES 0l ared p/E<E" RS2
2/ Al 80,995,849 80,062,561 933,288
= 104,951 104,951 0
= 354,872 54,872 300,000
Al 80,536,026 79,902,738 633,288
= SRME 2 =S+ 285 22 1,814,682 1,139,897 674,785
= 306,700 6,700 300,000
Al 1,507,982 1,133,197 374,785
= SHMAS SHAIA pte| 824,267 250,081 574,186
L= 306,700 6,700 300,000
Al 517,567 243,381 274,186
SEH ZFML 2te| 752,643 178,457 574,186
S 306,700 6,700 300,000
Al 445,943 171,757 274,186
201 YLEr2 Y| 66,806 56,806 10,000
S 2,100 2,100 0
Al 64,706 54,706 10,000
01 AtSZeltl 54,806 44,806 10,000
O SUEER ZHEIIL2E
5,000,000& * 13| = 2JH& Q! 10,000 0 10,000
401 A&HIZL S0 30, 186 66,000 AN35,814
01 Al&HI 30,186 66,000 35,814
O = - SFML SHAIEES EHHI 22,786 36,000 A13,214
o TEA EAHHI(KHES)[HERH]
Z& 22,786,000& 22,786 24,000 A1,214
o ZRMAE EHHI(F BAXL) 28 02 0 12,000 12,000
O =& ez JI2H8 =8 ?Ig eed
A 23 03 0 30,000 230,000
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SRl: 2 - ZRMMS HAX P (chol: &2
M- - H4A(SH) - HEAMY - BES Oi &k I Hlws2t
O ASOHAME A X OHBI(20m)
7,400,008 * 1A 7,400 0 7,400
405 KHAHE SH 600,000 0 600,000
[ 300,000 0 300,000
Al 300,000 0 300,000
01 RAUSZFSY| 600,000 0 600,000
O 4IRS SHe - el Mot
600,000,000 * 1Al 600,000 0 600,000
= 300,000 0 300,000
Al 300,000 0 300,000
22 2 ZENY 58X e 990,415 889,816 100,599
SEals =1 255,536 249,160 6,376
201 Leredy) 44,738 32,070 12,668
01 AtR22lH] 24,738 12,070 12,668
O Ygtegy| 17,368 4,700 12,668
o MAE 7 45080 * 28,150% 12,668 0 12,668
405 THAHESHI 205,808 212,100 16,292
01 [ SZ5 S| 205,808 212,100 16,292
O 28 - MRS 35,300 0 35,300
o ®XEHD D) 2,300,0008 * 1CH 2,300 0 2,300
o ®XEND 2lddl 1,700,008 * 6LH 10,200 0 10,200
o PUAIY oXt 70,0002 * 400H 2,800 0 2,800
o HMSIET ZolA HIERY 20,000 0 20,000
— ma 200,0002 * 407} 8,000 0 8,000
- Xt 100,0008! * 807} 8,000 0 8,000
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- JIEHHE UHHIOIZS)
50,0002 * 8074 4,000 0 4,000
O 2% - UMzs 7,000 0 7,000
o HSII(3HD) 7,000,0002 * 1CH 7,000 0 7,000
O SHs - UNsS 1,408 0 1,408
o JHHIS(STH) 1,408 0 1,408
- Qcs 176,0002 * 874 1,408 0 1,408
O S¥Hs - UNsS 39,800 89,800 A50,000
o ZUHS 2228 2 -SHE 12,000 62,000 A50,000
- HA(2=) a3y 0 0 5,100 A5,100
- OIXt 3 6,600,000 6,600 9,500 22,900
— JHyl 38 o0& 0 6,000 6,000
- 3ogAX 38 o0& 0 2,250 A2,250
- 3oEEX 38 o 0 8,750 A\8,750
- SEANE 3F o2 0 3,000 3,000
- JIEHEOIEX, AtBITH S) 35 o 0 22,000 A22,000
EXg SA2 578,866 496,156 82,710
202 09| 8,040 12,540 A4,500
01 =2LHoAHI 8,040 12,540 A4,500
O & 2SR 2 1= HSUE ol
3 02 0 4,500 A4,500
301 YLt Az 2,500 5,000 22,500
10 HAIAHIEAS 2,500 5,000 2,500
O & 222 L IEHSUE ol
3 02 0 2,500 22,500
405 RHAHESHI 178,710 89,000 89,710
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SN - FB - SR(E) - HRAY - BYS B o 2
01 RAUSEHSH] 178,710 89,000 89,710
O ZEXY - URFHS 189,000 89,000 100,000
o g2XH(2CH) 100,000 0 100,000
- SYFM(ABY PN SHE)
40,000,000& = 1CH 40,000 0 40,000
- SAIDISDHE AR
60,000,002 * 1C 60,000 0 60,000
O ZEAY - HHHS 78,710 89,000 £10,290
o SHEXH3U) [HERFH] 78,710 89,000 210,290
— BT, SEX (S E )
Z& 30,710,000 30,710 33,000 A2,290
— AEDHE ) A 48,000,0002! 48,000 56,000 8,000
H42E S B2 156,013 144,500 1,513
405 THAHE S| 156,013 144,500 1,513
01 Tt = SFSH 156,013 144,500 11,513
O 2E8RFS 24,010 16,600 7,410
o PHMMAZT (WHHRI2I D) [ ETA]
A% 4,210,0008 4,210 6,600 £2,390
o SAD(EROUABF L) (AT
2& 4,800,000 4,800 5,000 2200
o WRZAMIN(NS-ZH L)
5,000,000& = 1CH 5,000 0 5,000
o YHRHE(BYSSD)
5,000,008 * 1CH 5,000 0 5,000
O =28 - BHAS 103,203 97,900 5,303
o DUERIN(SAAL D) [HE o]
2& 8,930,000& 8,930 9,400 AN470
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ool 22 9 3BT 58F 2 CEERE
S - HB . C2(BH) - NRAY - BE2 Ol &+ plELt HIDS2
S AREADI(AE, B9, s=A, ey, 0
2 BN A, 012, B2, #HTR)
A 48,000,0002! 48,000 50,000 A2,000
o AHB0IF(2AALD)
Z& 14,880,000& 14,880 16,000 21,120
o HEINH(MEBE AR [ ]
Z& 21,393,000 21,393 22,500 21,107
o YWHRME|(HSSAD WL 2D
5,000,008 * 2C 10,000 0 10,000
O 89S - LIS 28,800 30,000 A1,200
o HNZADI(S4, A2 BE, H0 85,5
o) [ & X ] 2 & 28,800,000 28,800 30,000 21,200
a5ty FAEE X4 2,948,131 2,730,666 217,465
Al BAEtE ZHl 2 2t 726,298 728,096 21,798
GIA - SHEA P4 2 SXR 376,071 377,869 A1,7%8
401 Al&HIZ R0 71,858 73,656 21,798
01 Alatt] 70,994 72,79 A1,7%8
O Ok - SHEAN ZLHY 22 ABBAK
SHETHH) Z2& 27,878,000 27,878 29,676 21,798
SHs MY - S5 2 SN 2,221,833 2,002,570 219,263
SHEA & = ¥ S3NH 2,101,833 1,952,570 149,263
401 AIEHIZL S04 2,099,263 1,950,000 149,263
I Al 2,065,998 1,920,770 145,208
O Lol SIEHEEL SHANEHL UEBM
1,500,000 * 100m * 97.31/100 145,965 0 145,965
O 3138 WESZA L HA=D FHIBAHG
E X)) ZE 48,723,000 48,723 49,460 ANT37
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SHell SHE A Al - BF L BAINA CERED
SN BB S(B) - MRAY - BES 0l ared p/E<E" RS2
02 2eltl 24,805 21,850 2,955
O 20 SEHESA SHARSTL AETA
50,000,0002 * 1.97/100 2,955 0 2,955
03 A& S 0HYI 8,460 7,380 1,080
O U0 SEERA SHARSTL AEZA
50,000,0002 * 0.72/100 1,080 0 1,080
S HA A - BE Y SRR 20,000 50,000 70,000
401 A&HIL 2T 20,000 50,000 70,000
01 Al&H] 118,704 49,460 69,244
O DIBE FOIME 2D ES2Al
800,000& * 50m" x 98.92/100 39,568 0 39,568
O SIS FOIME SAARL FHITA
66,6662 * 450m * 98.92/100 29,676 0 29,676
03 Al&=ChY| 1,29 540 756
O DIBE FOIME 2D ES2Al
800,000& * 50m" = 1.08/100 432 0 432
O SIElE FOIME AAASL FHHIZA
66,6662 * 450m  1.08/100 324 0 304
SR 2ABHI (B D) 76,047,307 76,006,269 41,038
= 104,951 104,951 0
= 48,172 48,172 0
Al 75,894, 184 75,853, 146 41,038
oI 23| 75,197,647 75,196,609 1,038
= 104,951 104,951 0
= 48,172 48,172 0
Al 75,044,524 75,043,486 1,038
=gl 30,304 29,266 1,038
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SN BB S(B) - MRAY - BES 0l ared p/E<E" RS2
101 2124 25,204 24,166 1,088
09 RIIHA22R 24 25,204 24,166 1,038
O 2HA AES2RIY FL224Y
46,1302 = 12 * 152 * 1504 1,088 0 1,038
p[LET] 849,660 809,660 40,000
SIEET 849,660 809,660 40,000
201 2Br2 | 838,220 798,220 40,000
2 32| 756,211 716,211 40,000
O 2222 2 HAl BN 756,211 716,211 40,000
o ZRMLEE BT A 284, 155,0002 284,155 264,155 20,000
o BN B2 B A% 257,776,002 057,776 237,776 20,000




